{. A ‘gourmet’ means
(a) A seasonal traveller
(b) Greedy cater
(¢) Vegetarian
(d) Connoisseur of good food

2. A ‘martinet’ means
(a) Candidate
(b) Supervisor
~ (¢) Strict disciplinarian
* (d) military leader

3. Find the word correctly spelled
(a) Parallel
b) Weird W
(b) Weir | ot
(c) embarrassing
(d) baloon

4. Out of the four alternatives suggested, sclect the one which best expresses the same sentence
in Indirect Speech:

Vipul said, “Alas! How thoughtless I have been!”

(a) Vipul exclaimed how thoughtless 1 have becn.

(b) Vipul regretted upon my thoughtlessness,

(c) Vipul confessed with regret that he had been thoughtless.
(d) Vipul admitted that he had been thoughtless.

Replace the underlined word from the given alternatives:

5. Some scientists believ ed that a meteorite could have created a tsunami that wiped out life
on carth several billion years ago.

(a) got more of
(b) extremely tired
(¢) removed by
(d) put an end to
6. It lays the foundation of the overarching perspective that a etson develops throughout his
or her life.
(a) embracing nothing
(b) dominating nothing
(c) embracing everything

(d) dominating everything

http://khilage.com ¥
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Replace the underlined word that is most closely onposite in meaning from the gl

alternatives:
7. His energy galvanizes him to shoulder the responsibilitics and withst: and the pressures of
playing a sport. i

" (a) depa

(c) surrender
(d) discontinue

.The sentence is followed h} different ways of writing the underlined part. Choose the best

alternative:

8. The glorious tradition of the kingdom almost continued for_its establishment, right from
the reign of Bappa Rawal.
(a) from its establishment
(b) since its establishment
(c) till its establishment®%
(d) to its establishment e<_

9, They compepsate for Iack of aclmlrablc phymkue by their firm and pleasant nature.
(a) firm but pleasant nature | ' ,{ )Y
(b) firm or pleasant nature

(c) firm and pleasant ideas
(d) firm, pleasant nature

Choose the best answer from the given alternatives (Q. No. 10):

(a) use 0

(b) position of verbs
(c) position of nouns
(d) use of verb form

10. While Ieabout the passive voice form, students learn about:

Choose the best answer to replace the underlined word from the given alternatives (Q. No. 11):

11. It forms a natural boundary that runs along the border between India and Pakistan.
(a) figures g

(c) frames
(d) moulds

— -
¥ S ——
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" . No. 12):
Choose the alternative which best expresses the meaning of the idiom/phrase (Q

12. He was punished for taking French leave.
(a) giving lame excuse
(b) leaving without intimation
(c) being absent without permission
(d) resigning without giving notice

QVWWWWWMQH%%WW%WQW?“
. efex
2. HusH
3. FRfG3
4. Yidas
fefsora 39 3 fegt gmret o At g fxawr 3
(a)1,2,3ni3 4
(b)1.3,2n3 4 A ° .- g g

(d)1,3,4n32

4. FII1 Hol 2
A ©E () StHt
B WSt (i) W
C HeZE (i) IHE ;
D UATGH (iv) fEaH
@uaaeféqﬁwannﬁ*a

A B C D

(a) (i) (i1) (i11) (iv)
(b) (i1) (ii1) 1} (iv)
(c) (iii) (ii) (iv) (i)
(d) (ii) (i) (iv) (i)

15, R MEU-YE s I6:
(a) 8. €, 3,1
(b3, 8, & Y
(c)8,35,4, T
()8, %, 5, H

e hULp: S O T ———
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16. J5 fea Bt 99" gre e ufgers:
(a}é‘\’
(b S
(c) ¥
(d)ym
' 17. BU HE2-AF 9
(a) Haer L @\
iy ot QA= A
(b)FIUET/ w
(c) fReoRl

(d)UTel
18. B9 HEE € uSae’ T famy €A
fra3 fioss a2 9%, 89 Few Je 05|

20. Sty Agat Aee o fapy ©R:

 (d)TEt F adt |
21. I3 fon Tt &9 Hu e 92!
s, aret 3 3% 99 99 9
(b) 7S ni3 FISHT aT9H Idff T5 |
(c) ﬂ’:&- g“é@gu‘a'ém|
(d)ﬁ?#gﬂ%ﬁa&ﬁtu
Previous Ft:g)e/r/:hjg%\(gﬁ{@@ﬁy CamScanner
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(d)yaea

3. Hehi met 2
A €3 av warg (i) »E3S fite uR
B nie €t fashy (il) AW U3y
C fainmas3 (i) U, "o i
D A% U3g (iv) Ad=ETd
A B o D
(a) (1) (i1) (iv) (iii)
(b) (iv) (i) (i) (iii)
(c) (11) (1) (1v) (i1i)
(d) (i) zﬁ} M N 2 16) Yo/
24. JEEE S5 ey %‘%ﬁ' o U1 e e FnrenS. W
{a]ﬁé“f Hﬁ?ﬂ}FE’T
(b) 2T wRIH =t
(c) TR&" Hiow™ &
(d)TE aHS HER & :
25. "TEN US g 73 uGFiom, &9 & gt nifenr fafis fieg g
(a) HISTET5 O
(b)HTSH 3
(c) T3 fagen 3
(d) §uSaz et &t

26. Guru Nanak's friend and companion Bhai Mardana used 1o play a musical ;
; : ) Slvdl ]
called - 'Rabab’. Which among the following countrics considers it as its

instrument?

(a) Afghanistan
(b) India

(c) Iran

(d) Iraq

Al Instrument
ational musical
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g3 7o 0T i T A S Mo RaS o fiom v @ e &aE AT 08
fiafimst fod’ forazr o fen § amed Falts mrg e O

(a) MTITEIRIS
(b) §93
() feas
(dy feara

27. Indus Water Treaty between India and Pakistan restricted India’s night to usage to only
three eastern nivers. Identfy the correct group of rivers
(1) Sutlej, Beas and Ravi
(b) Jhelum, Chenab and Sutlej
(c) Ravi, Beas and Jhelum
(d) Chenab, Sutlej and Jhelum
fifg @ & oS3 w8, firgs fa 993 w3 ufarss feo® dfenr, 393 &
o 55 ught sdt o1 urdt wase © I fifenr )8t € Sl digu & uiggTa:
(a) FESA, famrA w3 it

{b}rT"'FEHf m—:tO ‘/‘ ‘» ay/e

(c) =T, f5nH
(&) f9g, AEE ni3 T8

28. Why is 1716 AD important, in the history of Punjab?
(a) Death of Guru Gobind Singh
(b) Death of Aurangzeb
"(¢) Killing of Banda Singh Bahadur

¥

, y’?tcmr}’ of Sirhind by Banda Singh Bahadur
Uy @ fefzom f98 1716 AD. 58 HIFRUTs 37
(a) I3 SifEE fRy i T 0 59
(b) WigamE ¥ H3
(c) FT7 AW gT7vd & AOe3
(d) S fitw goTeg & mafde & f3

29y among the following countries developed world’s first graphene clectronic paper?

China

(b) Japan

(¢) Germany

(d) India

= Pe—— — s e s —— e -
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Nk i " b ST H ﬁg’}:
s sl A R e 30 3 wdbor @ ufod ol fedaeartss o ©1 HH
(a) ©ts :
(b) FUTS
(c) FHEHET
(d) 5753
\)/' Which among the following is the longest mountain ranges?
{a) Andes
(b) Rocky

Himalavas
(d) Trans- Antarctic

I3 Bt & fRodt me 3 &t uemsi S ¥R Y
(a) WS
(by T
(¢) forrfmne
(d) T H-MeTgales \
11 This lake has an average depth of 730m and is 1, ?41‘1;1 ll. its deepest point, which makes
it the deepest lakdin ] Id. tq‘x the |
\_wﬁy‘\upcrmrni {A m r iﬂz:rf #‘ :Ve
(b) Michigan of the USA e

(¢) Baikal of Russia
(d) Ontario of Canada USA

%ﬂs“ﬁm rm—arﬁ:a'ﬁr ?IU}-ﬂE'ET%M:s rE 3 aIfgdt /g 3 9089 Mies 31 fog 28
-"Ua' T ) N

(a) TS /idTaT & FuT"awa SIS

(b) wHTIaT T HIATS 518

(¢c) §F = 55% 5T

(d) TBFMmiHTeT € G2 §is

32. In which among the following countries would you find Deltawerken Flood Barrier?

(a) The Netherlands Ae——————-

(b) Span

(c) Australia

(d) France

I fefmi &5 592 T8 1989 Deltawerken Flood Barrier

(a) BECICE]
(b) AUS
(c) MAZSTEMT

(d)EIH .

B. Series - 3 e
Q Page §
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33. To which among the following states does the theatre form *Ankia Naat® belong?
(a) Bihar
(b) Jharkhand
(¢) Kerala
(d) Assam
I3 f&fent (5 1903 97 5% ‘nidor &2 mfg guer 3
(a) fET3
(b) 5T
(c) TS
(d) MA™
34. Sonsogor s the highest peak of this state at the height of 1166m. Identify the state.
(a) Chhattisgarh
(b) Goa
(¢) Haryana
(d) Punjab

SunmgnrfEﬂE‘?TéTTﬁ?% @Yﬁﬁﬁ 3 faret f:’E'TE& 1166 HtZg 31 ﬁ?ﬂﬂ?ﬁm
(a) SSTHIS

(b) 3mT

tc‘lm

(d) UFTE

Lad
th

. In which among the following states is the Shilpgram Crafts Mela held?
(a) Punjab
(b) Madhva Pradesh

ko ™
s Alm to achieve
{d) Rajasthan A
5 fafip 25 fa03 o &0 iRy a9z Ae &areT J:
(a) UrTg '
(b) Hfam USH
S CEILEIE]
(d) ITHRES
36. Identifv the. former Indian Air Force chief on whose name the Panagarh Air Force Base
of West Bengal is renamed.
(a) Arjan Singh
(b) Surinder Mehra
(c) Swaroop Kaul
(d) Anil Tipnis

e

Q.B. Series - 3 e oo Pagc__ 9 .
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A’ 3931 ¥nfJ TN (Indian Air Force) 2 i, frist @ & 3 uSHt dars € UaTag BN
SEH B ¥ & wwra 3hing famrr, o a5 - i

(a) WEEE Ty
(b) BfSwa Faar
(c) FRGY T3

(d) mfss fufss

37. Which university in ancient India was established by King Dharampal of Bengal in response

10 a supposed decline in the quality of scholarship at Nalanda?
(a) Udayagiri '

(b) Jagaddala
(c) Vallabhi

jﬁﬂ Vikramashila

YTSIa F193 U8 avder whtealid @ ugnt & uie e frree ni@ e S ©
TIHUS & fa93t Gateafidt & ranar st

fu)‘@'\{’\?’f&d:'é}
(b) FIEIESY o g -y
ow=s AIM 10 dadhieve

(d) feaarfizmr

M‘h’hi:h 18 India’s first intemational biosphere reserve?
(a) Panchmari Biosphere Reserve

Jb‘fl\fandu Devi Biosphere Reserve
(c) Simlipal Biosphere Reserve
(d) Nilgiri Biosphere Reserve
gra3 o ufomr wizgaRedt Biosphere Reserve fara3r 3:
(a) USHST
(b) 5T o=
(c) frHshus
(d) AtSfarat

39-Who among the followings is not recepient of Saraswati Samman?
(a) Haribhajan Singh
L7 Gurdial Singh
(c) Dalip Kaur Tiwana
(d) Surjit Paatar

e e e —
— —————
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U fufiout 100 fom & Ranedt naves 50t fidenrm:
(a) Tl frul
(b) rr;]ﬁ:rnr,ta friur
(c) DI B fagra
{leﬂT—fTr} U3d
40. Who is the writer of *Bachitar Natak®
& ————
(a) Bharat Mumi
(huru Gobind Singh

(¢) Ajmer Aulakh
(d) Gursharan Singh

gf939 Aed o Sud da 3
(a) 993 }r.f,‘ﬁ-

(b) 313 drfeie fRw

(¢) HFTHT Wiy

(d) Framas fi

41. ‘lapup’ s n.l.rith.n in which ‘raga” :
(a) Sin Raga A 2
Im to aehieve
(¢) Tukhan
(d) None of these

(b) Trlang R
‘st wrfos @ gar fom g g

1.—-- -

(a) 2 3'al
(b) F555q1 978
(¢) IuTT T
(d) 2t 2 ED
\/‘f Mention of “Dulla Bhatti® 1s found in song of which festival :
{a) Songs of Vaisakhi
(b) Songs of Bhangra
(cSongs of Lohn
(d) Songs of marriage
‘o $2 v frerg R st e me J:

Q H hr..'ﬁr;‘\




43 ‘Mahan Kosh® the Punjabi Encyclopedia was written by
(2) Bhai Veer Singh

. (b) Bhai Kahan Singh Nabha
(c) Gurbakhash Singh Preetlari
(d) Bhai Gurdas
"HI™ IR dREt ferean far & goar -
(2) 781 &9 fRu
(b) € aram ity Frar
(c) T9ER fRw Jswst
(d) TET IR
44.

e-district project has been successfully implemented in which district?
(a) Amritsar

(b) Mohal

(¢) Shahid Bhagat Singh Nagar
(d) None of thesep, *

A fr‘i}:ﬂ‘* #Zf" /",‘v 1__.
o-FRST (e-districh) Lﬁ% fom fivs fee Hm‘jf‘ﬂaaa w‘a‘r@n M’E‘r

(2) vil{3Ha

(b) HT&

(c) Bt T2 Ry &g

(d) 5t o5 &2t &t

Who amongst _th: following was elected as president of ‘Punjab Riyasti Praja Mandal’

(a) Bhagwan Singh Lnngc:walia

(b) Master Tara Singh

(c) Kishan Singh Gargajj

(d) Seva Singh Thikriwala

(a) TS fRu ST

(b) HAZT 379" fRw

(c) fama fiy arzeis

(d) BT Ay Stastes

45.

Q.B. Scries - 3 i
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?/ﬁ’hich of the following Wild Life: Sanctuaries of Punjab, was first notified as wild Life
Sanctuary”’

Harke
(b) Bir Aishwan
(¢) Bir Moti Bagh
(d) Bir Gurdialpura
Iz fefintt fe5 /e 37 ufost Efest St wind Life Sanctuary o
(a) T :
(b) =13 AT
(c) A3 N3t g
(d) 57 FSfenreEyT ’

47. What is the total height of the highest peak in Naina Devi Range, which is located in the

Rupnagar district of Punjab?
(a) 500m

(b) 1020m

(c) 1550m

omwmAIM 1O dhiieve
%ﬁwé’ra?rﬁrﬂaar@‘e‘raé st fe e © queaid frg o 3, @ g Goret et
J7

(a) 500 HIEg

(b) 1020 Hizg
(c) 1550 Hizg
(d) 1800 Hizg

7 What is the state animal of Punjab?
U(‘vf{Jl.’:I:u::kl‘mclc:

(b) Barasingha
(¢) Hoolock Gibbon
(d) Spotted Deer

Arg T gt e faasT 97
(a) T fogs
(b) Frarfiur
{C}E;I?_ﬁﬁ!f@ﬁ
(d) fsterg fuas

i
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single state
fow many princely States of Fast Punjab were grouped together to form a sIAg

called PEPSU (Patiala and the Fas Punjab States Union)?
(a) Five

(b) Seven
(d) Nine :
2 - £ s b
QR (G7ma i3 €72 Urma ey GatiE) a7 § aerle st yadt Uaa @ fdé HaaTivd
€ I & fodlst dtsr fipapr -
(a) UH
(b)A3
(c) &
(d)&

50. To which among_the following buildings is the great architect Moshe Safdie associated?
(a) Virasat-e-Khalsa Museum

(b) Gurudwara Sri Darbar Sahib
(¢) Gurudwara Sri Hazur Sahib
(d) Gurudwara Sri Keshgarh Sahib

%WW@HW%HWE%WF&}W I}lcadfdltwa"
(a]ﬁmemb}ﬁ-’{r@aw il 4

(b) IS Kt Taarg Aoy

() IS B Tg9 Frfod

(d) STENST H aFaTF Arfod

é}./ln the series 10, 17, 24, 31% 38, %, Which of the following will be a number of the series?
) 346 I -?Q- 3
~ n.__q. A+ “Ff) o t -\
(b) 392 5_5___ C 3
RS

(c) 436 % >

@ Y335a0 xS PVED . THO
10, 17, 24,31, 38, ... Hid17 f&g, EEEf%ﬂinﬁfféirfazﬁﬂ'ﬁmqfﬂ?ﬁiriﬁ'ﬁéa'ﬁﬁ%nwriﬁaﬂ%?
(a) 346

(b) 392

(c) 436

(d) 680 Vo

\_ﬂ/{n the series of numbers, 4\_1}?‘}.&%1 90, 382, ... which is wrong?

(a) 22 . A
(b) 46

U o

(d) 382

e
u

|
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Aferet S JE5 4010, 22
{a) 22

(b) 46

(c) 96

(d) 382

. 46,96, 190, 382, ... 129 fogt sifumrr aws 47

ywhich of the following is the odd pair of words?

(a) Atom-clegtyon
(b) Curd-milk «~
(¢} House-room

Main-cngine
J5 fafnit f&5' fagsr meet o 937 mifsefos 59
(a) m2H-Tarsh mzE

(b)€dt-€u
(c) Wa-oHa"
- L ] {
(d) I=asT—Iara , g
=AM tQ aohieve
54, Which of the following 1s the odd p?ﬁr ol numbers? 19

(d) 9-28

5 ettt f59° Afiaret o faosr A3 wifspfas 92
(a) 15-46

(b) 12-37

(c) 8-33

(d) 9-28

(a) 15-46 6 ! o 9 %
{l:} 12-37 % }ﬁ cé( 2 3”7 ‘m
e g

55, Fight people A, B, C, D, E, F, G, H are sitting around a round table in the same order, |
‘-/‘3 equal distances. Their positions are clockwise. If G sits in the north, then what will be

the position of D? o W
(a) North-east
(b) West RS ‘E‘, A

(c) South-gast

L}H‘ South-west ' 3 E)

Q.B. Series — 3 ) Page 15
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T T . £ ado ot ot pferdt wett ¥ fom
fer g Nw o foraw nis S vy s g 3 8 ae 1 gt e nfeEl i ’

G Q3 fonar am B 3 gty <) gt o S ?

P ——

(0) BT L
(hy e
() HE -Gy
() THT UTH
§6. Which of the following words cannot be formed by using the letters of the word
ORGANISATION?
(2) SOLUTION K
(b) NATION
(¢) RATION
(d) RATING
ORGANISATION maw € nrfart &t @93 a5 I fosfint (Y faazr mae st gefeonr 77
HI" Y {
() SOLUTION

() NATION Alm '[O {.{C"}‘&ive

(¢c) RATION
(d) RATING

« Look at the following numbers. Whichos the third number to the left of the number which
1s exactly in the middle of the nunmbers?

423?1:5?:@@_}.{3;&@1
(a) 5
(b) 6

|
|
P s flor e § 31 € Ao ot oot e fegs 3. 3 5 i 5

At Afimr fagdt 37

42371257286864217543167509

(a) 5

(b)o

(c)7

(d) 8
— Sr——— e %
Q.B. Series - 3 o
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58. On rev Ll‘hlnb a woman’s age, the figure so obtained represents her husband’s age. If the
husband is senior to the woman and difference of their ages is one-cleventh of their SUMm. . - - 2
then the husband’s age is : o = o+ a3

(a) 42 vears W = \g“-\- h'd
(b) 45 years _ o w .Iﬂ\\&
= |
(c) 52 years lﬂ’—"ﬂ-*l *{Q:L*.Q T‘Q
(dy54 years C{La - aq¥x e 5'5.*‘6
miaz © §va ot Aftnr § 888z 315 YUz I8 Aty 878 vl F §Hg 31 AT
uéf@ﬂnﬁag—gram@ﬂ‘ﬁm%?ﬁa@wéw@wéﬂs?:mﬁJﬂTE’f

3ty &t Qg Jeatt:
(a) 42 A&
(b) 45 H'®
(c) 52 A

(d) 54 'S5
59,7 If the English alphabet is written in reverse order, which would be the 8th letter to the left
of 7th letter from the right?

ol aReFLYVWEYZ

(a) P ththFG“'EKLM

s fommﬁ@%“@?‘“"”»‘“@r“w’b

{d} K LR L A -‘ Y 1. f :_ .-'r“

aaanfmﬁ?f(%rnwzj@aﬁaaﬁﬂ%a%&wﬁymwﬁﬁﬂgﬁm%u&wﬁ

niaet nhyg fagzr J<ar? fecd %

(a) P Fg RNV

N O

(b]R '14 L M

(c)O P g R %‘(;

(d)K UV

In a certain code SPEAK is written as CGRUM and RAIL is written as I{["TN, In I)I;at o T

" code AVOID will be written as : g ? e A \1 R M\ ', J.,L
) KQXCF LY % Wi 1, o

(b) KXQFC R v k C T M 210

(c) KQFCX -

(d) KQCXF

%HWQE&HSPEAKECGRUMWW%H{%RMLHKCWWW%‘H gr

&=z f&5 avoiD § faftmr Frear:
(a) KQXCF
(b) KXQFC
(c) KQFCX
(d) KQCXF

C Page 17
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\_ﬂ/H road is called water, water is called cloud; cloud is Ldiled sky, sky I8 ’*“”Ld Seay sca
e S ——— f

called ship, then where d{}ll"i an acroplane ﬂ‘-
(a) Sky

i h ) Rﬂl;‘.d
et

{d) Cloud

Had R & et iy e Ut & wem fyar we. gTs & WA ST Hréq ISR
T RHES fagr = . IHEE & mied Hﬂ‘ﬁ%ﬁ“ﬁ?wmﬁ?ﬂ@w? =5,

() YHHH
(b HZT
(¢) FiHEd
(d) 595
62. I the first and sccond letters of the word L{‘.I“s‘lik EE}‘ N are interchanged, also, th,
\_‘//ﬂmd and fourtk letters and so on, then which wo Id be 'th fm:nh letter from the nght”
() M CoMPENSATION -
il OC PHNEALYTNC G
te) 1

okl 10 SR0OICVE

AlrJ;.tTlrmjuTgW Hmﬁa'&'L“TFlTE .%a.....r..
h'f_ 'd‘lf-'l rﬂfﬂhr‘fsﬂ*?},{hlﬂ, T ’r[mwmw

(@) M , .
®BsS - L AN Y " E
©) T .‘P”: .
(d) 1

{ afl the multiples of 4 between 4 and 71 are arranged in desce
number will be at 8th place from the top? _P_,@%

(a) 24 A Y &"

(b) 32 *"g %6 . il Bait |
A ™
o 3% .

Aod4an3 71 fee®@ g4 multiples WZTT I951s fEg B O 37@1133"?}{6&";“'
3 fagst Rt 35T

(a) 24 .6 &
(b) 32
(c) 40
(d) 44

nding order, then whicl

Q.B. Series -3 ===~
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L §ju B e - ol ‘Decplk. Seema is the daughter of Raju. Chhaya is the daughter of
Dinesh and Dinesh is the brother of Deepak. How is Chhaya related to Seema?

(a) Aunt Dines™

D
\(b¥Cousin / |
(c) Nephew
(d) br-'.lplhcr

Shux o U3a I 91 I O Ot b 31 Redn & ot afenr 3w fodn o e Sua 1
grfenr & Fhyr &% &t fomsT 7

(a) Mt
(b) ST FI/3F
(c) T3
(dyH="
\f;.: Some students are standing in a line. Shekhar is on 10th place from left and Alok is [5th

from right. When they both interchange their positions, then Shekhar is on 20th place from
left. Total number of students in the line are :

(a) 30 3%,;— i—m |

; 4 0 s 1‘*" :-

2 Ainito dghieve
{d) 39 £

53 fefonradt féa oels Re w3 5 Faads uiRE TR A5 33 ni3 nd@a AR UTRE
Joae Auw 3 31 we B0 SR @ MES v -5l 9 8¢ O 31 AYT U8 UTRE 20
353 3 )1 mets e o fefonmeatan:
{a) 30
{b) 34
{c) 36
(d) 39
66. BEGK is to ADFJ as PSVY is to :
) — <
S ORUX Be G¥ & i
(o) LQST L 4y B
(c) OURX AkDEFS> R
(d) ORBM
BEGK 2= ADF) 28 3 3¢ psvy R B U
{a) ORUX
(b) LQST
f{c) OURX
(d) ORBM

M
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RT—————

| J"‘ When Sukant was bom, his father was 32 years older than his brother and his mother o,
! 25 years older than his sister. If Sukant's brother is 6 years older than him and his mor,

is 3 years younger than his father, how old was :,,m:"ﬁ:’m when he was born?
(a) 6 years @ b BT e =Y

% (b) 8 years o= =85
1 O g Fo3ml  sM =85,
{ @ S 39 o ks
[ 1 d) 12 years

T B 2 #aM Sfenr 3 QR 2 fuz @R 2 99 3 32 e @2 A s GRS e O
8% 325 A TH /i AT B3 w39 OR 3 6 1 vt 3w Gt e @A fuer
3AS et d 3 @t 37 3 mrsst &t At e mais @ wed Ofenr

(a) 6 H'S
(b) 8 A&
(c) 10 &
(d)12 F'&

68. Among POT, DOG, READ, TAB, REED, the odd one is :
(a) READ -3% el
\®, {h'.u f /1 S é 3¢ as
i (c}T O (l UV
Q e

! ! (d) PGT 3 Sl :

: @J POT, DOG, READ. TAB, REED €8 f&0= odd 3 kLot O s

1 v i - - . S

k"j (3) READ :

F (b) REED : 4 -—g‘
(¢) TAB

F g (d) POT
69. The nu
-

e
i
e T

_— - b T OPR
i o A2

pair which is different from others is :

41,50 ~ ™

Eid?\ v \P%?
9% - 108 2 a

{d}§_ll)_-95 b

(a) 56 - 63

(b) 40 -

{c) 96 — 108

(d) 80 - 98

http://khllge com
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N g AT ACID 15 coded as 5927, and BOIL 1s coded as 1826, then DIAL will be coded as:

(&) 7266 A C ' AC\D Jo VL
(b T1S6 W]l S41d (| BAad

(€1 7256 s 19 19 #\
td]:?.‘f‘ D.{‘E_G_
RET ACID T ST 5927 %= BOIL ¥ 1826 3. 37 DIAL @ &8 Joan
{a) 7266
(b) 7156

{c) 7256

id) 2756 @ C_D @ @ @)

7L If the words_Editor. Either, Edge. Edible and Eighty are arranged alphabetically, then the

word u.h'i.:h will come in the maddie is :

(b) Either
(c) Edge QO
(d) Eighty .

H Editor, Either, rmé‘tﬁlﬁﬁ“’f i "lbﬂ’\f/‘éﬁ‘"" e 3t feraer

(a) Editor

(b) Either

(c) Edge ;
{d) Eighty e

v

72. A and B both are children ofC. If C is the mother of A, A is the son of C, but B s not
the daughter of C, how are B and A related? e i

(a) B is neice of A ﬁ
(b) B is cousin of A -

U8 is the brother of A B m
{d) B is the nephew of A

S

ANSBIECEESTAI AT AR HTCI, CTUITA YygcdaR At a T
B w3 A T famgr &t 97

{u&hiﬂ'@%ﬁ?—ﬂﬂa

(b)A T IIT FT B J

(Q)ATT T B J

(AT IFHFTBI

—— o

OB, Series -3 ' — gy
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I

ita is shorte

fta s taller than Shonal but not taller than Rakhi. Rakhi and Tanu are of the same heigh
r than Anjali, Amongst all the girls. who is the shortest?

(a) Rakhi .
(h) Anjali : ) "‘"Tﬂm
(¢) Tanu ' gﬂ::-.‘
(d) Shonal h
STt RS o Bt 3 wa it v | gt w35 € o fodh st 1 e s
A RS 1 wrdindt gt R foraet w3 3 2
(a) It
(b) WiFTt
(c) 35
(d) 75
\_,?f- Arrange the given words in meaningful sequence and.then choose the correct order
Education  Job Income  Status Well-beme
! 2 3 4 5
(a) 1,2,3,4,5

(3,1,2,5,4
(2)5.4.3,1.2

P 2A35 )

Job Ineome. Status  Well-being

75 If the following numbers are arranged - in d

Education

(a) I,
(h) 3,
(c) §,
(d) 1.

2
1
4

)

1
.3,4,5
s 3y 4
y i Lad
o, 20

middle term is :

273 :
(a) SSH :GE Bl

(b)7

(5

(d) 6

468

2 3 4

5

Aim to achieve

159 206

50" 514 381
A3 dog Lfcj

http://khil
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escending order, then the middle digit of the



frrg o fordnrt Afioret & wedt 3¥t zate g sarfenr 72 3t fegaraut Fimr &1

fegeram wig faas 5ar:
273 468 159 206 350 514 381
(a) 8
(b)y7
(c) 5
(d)6

Lj,ﬁf-"]"hn: average of 25 numbers is 18, If the average of first 12 numbers is 14 and that of the
last 12 is 17, then the 13th number is -

6 & 25 BSXVP =X 1Y 4+ X +12x)d

*Aim to achieve

S HtET T A3 18 I Ja9 ufost 12 #fimrst v viRg 14 3 i3 et 12 At

e niAz 17 4, 313 & Afunr 534 Y Y WSe
8 W3 166 . 253
(by40o - --*-Er—"‘ S8
(c) 68 ,3—3 S
(d) 78
\.?7:‘ The difference between an extertor angle of a regular polygon of n-sides and an exterior

. angle of a regular polygon of (n + 1) sides is'5°. The value of n is: "T'-.("“-"i* )] =03
{H} 5 ] L -;_-_Sb =
(b) 7 e __Jat [%’1%7]

L) e
(d) 9 ‘jf&. ‘%ﬂ {v{*t_ﬂ ._j 'T"i('ﬁ-]-l)

mur&l}?ﬁﬁrﬁr%ammj?;%?aﬁﬁmémi 1) Uit 18 &g faafis HJgH
%?ﬁ%%ﬂi‘*?h’ﬁ'ﬂﬂl r;ETHﬁaZ

{a) 5 :

(b)7

(c) 8

(d)9

78. P and Q are two stations. A train goes from P to Q at 64 km/h and retumns to P at a slower
speed. If average speed of the whole journey is 56 km/h, at what speed did it retum?

(a) 60 km/h 56 &7 = AXEUY H Q\QL&
\_AB1 49 km/h | “Gu+ly . - e ¥
(c) 52 km/h cutbh = ZX8TY) —

(d)475 km/h T TYY :
QB. Series -3 9 N Page 23
i I Cuxi ¢ =16b

4uvpP Eyx? = 4hb & MY
A RYA http://l?hil e.co
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.

\_,(rcﬁ : hours

80.

PWE QO HRRS 9y g Jwaidt p 3 O 39 64 faited et uier @t 9379 &1 A
W3 I G A 2ns P 3 U il D e ud Aed €t mH3 9839 56 ECTHES
H*ﬁ‘] Ll["ﬁ UR =4 f“':-! 1"1&1—1 JETT T ; "'fl'ﬂ{ I‘H'FFI 0

(a) 60 fa@tegni

(b) 4‘-1:’; fﬂﬁ}ﬁi—?iﬂlﬁzjr
(¢) 52 fa@itezgufer
(d)47; fadfzania

A swimming pool 70 m long, 44 m wide and 3 m deep is filled by water i‘;Hl!ing from 4
pipe of diameter 35 ¢m at 6 m pegsecond. The time taken to fill the pool is :

{1]4?:uurh ?5 =W ‘ig y??/).."}fl)c...h& Lo

.(bM-ﬁ hours - %1%*}5 Yﬁ T 4 u\tjr-
¥ 1%q 74

.4
(d) 35 hours

m:ﬂ?a'@sa 44 11123 93 vi3 3 Hiza 30 &0 us & g sty 318 6 iiea/ifas ©
forre uat @ gfanr e 31 wdty v fenme 35 7 2hites 31 U% & 995 & BH &40
ar;

(a) 402 '

[b)::%u“ré D 2 .

tcmf—":zfr?:' Taltd F LO aChIeve
tdysgt&«*:‘

The students of a class are made to stand in rows. If 3 students are extra in each row, there

would be 1 row less. If 3 students are less in cach rowethere would be 2 more rows. The
number of students in the class is - = ?\

(a) 25 Tetal

(b) 30

(c) 36

(d) 40

fea aevm ¢ fefenradin § Jag e uzr st ater 31 e oo Uast fég 3 fefeniad
gor 3 wE 37 80 ot we waet) Hee 99 Uat e 3 feforradt we 3 wa 572
UsEnft 20 FEdind | aeeR Ty fefonradng & faest 5

(a) 25

(b) 30

(c) 36

(d) 40

Q.B. Series - 3

e
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NEp R o Page 24
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- v " . ! - .I. = ‘ 1 - e
81. A shopkeeper buys 2 sumber of books ffor T 1200} I be bad bought 10 more books for
the same amouni!. cach book would have cost him 7 20 less. The oumber of books hought
2 g E———— -
by the shopkeeper s :

(23 10 T 1AW % < ) O
(b} 15 ' sk __,\G—m r = A

"
T
{c) 20 ,g B .:-1';"'1“-—5
; LY~ :

T
—— - = — et L = L - e - -
T e e e O aT 8 [N EFE == L et oY sy e B e = gy -
= o ==t - - W = = - =i =% B
e e T T e e iy i e S e o, — —_ i
=u K =t S8 sy O J--"...-‘_l‘:....':.-.""_' = el M O] A Y
- 0 - - - B -
& — gt B
CiTH s e T lakISh Ol

37
fa) 62
(b) 653
fc)

£ A\ its | 19
ta) 62 /’-};é e /1 \ \

(b) 65 G }}Efﬁ. 3<°‘i =1+ (n~t) &{ 3%
o q g5 =X =)

£3. If the point (x. ¥) is equidistant from the points (@ — b. 5 - a) and (a — b. a + &) then
ONETC I
:E:;:a;." = g+l +2¢= O-b+dX
{d)ax - by

5= 53 ,..'1"?'-'-'# (x. ¥). u"h-“E (a ~h b- ay 3 AT TZ (a - f"a"'.!"t:'t g'8d BC
-:[-E-.

(aya+bh=x+y¥

o0 Alm to achieve

(d)ax ~ by

=1

0).B_Series - 3 Page 25
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84,7A boy is cycling such that the wheels of the cvele are making 140 revolutions per minys.
If the diameter of the wheel is 60 cm. then the speed at which the boy is cyeling is

{(a) 200 m/min - Ch tl.t}}( Wy
264 m/min ‘TI,:)*‘L‘ =6
(c) 300 nvmin
| (d) 326 m/min
Ea Bger Fretes v foor 8 3 rdtem 2 udiE ¥ file ffg 140 Se= 8 50 951 3=
4 ydte & ufgqns 60 Rdhitza 3 3t sz 8T 35 &% Aetes 85 far 07
(@) 200 Hza/fite 3
(b) 264 viza/fitz *ij"}
| (¢) 300 ¥iza/fiz m,
i (d) 326 Wee/fise . ox >

@ If L:ii;‘-)? + ... + x = 287, then the value of x is :

(a) 40 :
(b) 42 VAR %
(c) 45 O N %

(d) 50 " %
“0 f G 1‘3 ::E}_.L

;@ I+4+-?+...+®23?.5‘*.r?131%5u"{ 2
0

© 42 S T WMARAlo 4 134164194 3242528
(c) 45 % TAVIU 432 pypruyang

(d) %0 +uqa s

86. The dimensions of a rectangular block is 5 em * 10 em * 20 em To construct a solid
si : 2 : s ;
cube of minimum size, how many such blocks will be required?

s
T

4
' :::q 5 'S xloxdo = a3
(c) 7 (9)ew a=1d
(d) 8
FE:EH B mwwg:mﬁfm‘ml;‘mhlﬁ-:m«._lﬁi ég'g“ﬁi::yjffr
fos 57wz srEE wet fod fad iR sat ot woss 324t
(a) 4 '
(h) 5 : _
(c) 7
o= Aim to achieve
OB Smlie~3 = e —
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3304 fﬁmﬁmgﬁmﬁmyﬁ&ﬂﬁawmﬁm
(a) 60 . . £ R AL

B
(b) 115 . ,.«\’gjq.-—ﬁ

(€) 120 ' «5"\'/\:;:'1
(d) 130 2-—'%"’\'7:7\
.

A, B and C can do a piece of work in 6, 8 and 12 hours respectively. They started the

work together and after 1 hour, B left the .work. In how much time will the remaining
work be completed by A and C?

(a) 2 hours ..L_"'*,L'*.l A m{%—}lm 1
(b}"' hours 6 q L N l
; + = £ ) S
\[})4% hours —234 &y QHI_‘*X

PL
(d]3 hours el e G

A, Bn@Lﬁaw%wﬁ 83 12 uifent I8 &9 Fae T&1 €' & feafont” s 53

aﬁawrféaméswa%anaaafa"ﬁmmwmaﬂhn@c%ﬁ
%9 ugr Te5d?

Tl

| ?L) =L
s % g 4
()21 A8 J AY
i‘; ) L‘T‘ %
() 25 ule S 2y
(d) 3 ]- ufe

92. Ais lhnu: as good a workman as B and B is twice as good a workman as C. All thc hree
took up a job and received I 1800 as remuneration, The share of A is -

. (a) 3 I;un C= C"‘

\ 8 (b) T 1000 o s ' Q@ T_
¢ (¢) T 8OO RSN w\w b= Prl
B @T700 G832 UP P

S

ANt B nredt 3 {55 g a1 ger I 0@ B vt ¢ et 3 ¥ g a4 sger O

f3at & foa aW ugr a3 o3 G5t & &K @ 1800 U@ &1 A= i J2ar:
(a) 1200 gu®

(b) 1000 FuE

(¢) 800 TUE Alm tO aChleVe

() 700 FuE

m i

L]

e — S = T T T ———— e — m——
.8, Series -3 Page 2*
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23,

e 1is Py 2 53
“‘AH-':EE‘B F-:-qﬂndf' D—EE.Lhm B:C:D:
()8:6:9:10 AR = 153 A Cﬁrlg)ﬁ}—
g B 2 -q-F O
(b)8:6:10:9
() 10:6:8:9 -‘-_‘%* %
(d)6:8:10:9 ;
Qo _lf%)xfﬁc}-:_;:
T Ty B-t:l-fn@,:.n_ﬁ_? AR - {.5 ;] T B ;%—
g 3° 9 L-E.;.?A,B.C’.D :
(a)8:6:9:10 ,ﬁ-',l .
(b)S:6:10:9 -3 3'% .Ellg

(c)I10:6:8:9 4 &~
(d)6:8:10:9

4. The CP of an article is 40% of the SP. The per cent that the’S.P. is of C.P. is:
() 60% ST= 1D ‘&(
(b) 150% C:-¥=ye ;.q
it F;:

{c o | . |-I

Fashowde s B duz s 40 ) ST o s SR vile s = fam

ySEs Jar?
(@) 60% 2+ €10 1B
(b) 150% 16°49:80: 1YY\
(c) 2000
(d) 250%%

%, If the cost price of 20 articles is equal to the selling price of 16 articles, then gan or loss
per cent is : cp %\ﬁ h‘h =[C
(1) 20% gain },*Qc’ﬁ‘ﬁ-"gﬂ . M xbhmfas
(b) 209 loss +£('I'f
(dFI5%% loss

m:nwr?ﬁ?%rﬁwéﬁaﬁm%mﬁa@ P e 7 saRS
yFtms 339
(a) 20% erfEeT : .
v Aim to achieve
(d) 25% FH'S

http://khllge com

Previous Papers, JobG@&RNERJAY CamScanner



&

Gy Do

26y selling 33 oranges, a vendor gains the selling price of 11 ﬂranges H15 gain per cent

U.] 50%

(b) 40% m\’ 4 " \ @(\u
(© 353 @

@25%

33%%3@,%&%3 1 ﬁg%@ﬁaﬁrgaémaﬂ%?j??n Baer yh

{ﬂ] S0%
(b)40% -
(c) 35%

allowing a discount of 10% on the marked price, a shopkeeper makes a profit (
¢ marked price is above the cost price by T

LW
(c) 40% ﬂ'_-(f;? >

(d) 42% "ﬁ' ¢

Feaeam%ﬁmﬁam%mqﬁﬂgazéas‘ yStHs grfeer Jer
ﬁauﬁamua‘rema‘ﬁ%qa’iﬂa :

(a) 30% S 26 ¥ =qp00 -

(b) 36% r el =29ooo

(c) 40% AN . alw Yo

(d) 42% kqf” B =

_\ob 4

yThc lcn.gth _uf the longest rod that can be placed in a room 20 m long, 16 m Broad and

12 m high is : \{tFJ : O tE}t:

(a) 20 m <L (}P Q j

~ (b)36m P’“ . | '
Je¥2042 m - OO0

(d)20V3 m

fea sdar, frmet daret 20 Hieg, St 16 iea ni @gret lziﬂz’aﬁ.ﬁeﬁaﬁﬁa@!
T rod it AT FereT 97

(a) 20 HiZT |
(b) 36 Ht=g

() 202 vi=g Alm to aChﬂeve

(d)2043 =g

Page 30
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9,~The difference between C.P. and S.P. of an article is T 132, If the profit per cent is 8, the

1T:LII; :ul']:,l::] article 1s : cb—a e-P -~ Q'P =\3Q

(b) T 1650 \6So Px B = 138X\w

(c) T 1750 SR cras
Ml?ﬁ.’! : l—-‘%"?:’-—' t.«{ = A%Lxhﬂﬁ

v tude w3 s g it o nze J fseafror s yfms 9 3 Q9
: : " - 0 )

(a) 1600 Ju2 o ¢ So
(b) 1650 Fu=
(¢) 1750 Fue
(d) 1782 TuE . i o
0. ,Ihe day of the week on 12th January 1979 is : 16wo >0
og, R e et
(c) Sundﬂ}fr | ﬁ
{d) Monday 2axa= iﬁé l J ‘.&‘f
12 Heeat 1979 & T3 © fags s A7 u oy~ sy
5 m—
(a) FEETS ; ’ i e s T
{hl'ﬂ-_f:l%’ﬂ lﬁ?.?&i'nﬁ{ =
iﬂ}m \ 4 \quoo N ®
(d) AH™d .
3% b B39
1D \ 8 a3
L ] S9
® D 8
\ %ng
| |1131 L Jﬁ‘ ,-g:f—- @_)
o a°

ﬁcs = — -__—.2':"___-,-:7! — — — —— —— Fagc—-—-ii
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